Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2020

Subject Name : Digital Electronics
Subject Code : 2TEO3DEL1 Branch: Diploma (CE)
Semester: 3 Date: 27/02/2020 Time: 02:30 To 05:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)

a) J-KFlip Flop Derive from ? 1
(@) T Flip Flop (b) R-S Flip Flop (c) D Flip Flop (d) None

b) In Excess-3 code each coded number is ....... than in BCD code. 1
(a) Four larger (b) three smaller (c) three larger (d) much larger.

c) An OR gate has 8 inputs. The number of input words in its truth table are 1
()256 (b)32 (c) 64 (d) 128

d) 1% complement of 1101 1
a)0010 b) 0101 ¢)1100 d)1111

e) 2" complement of 0001 is 1
a) 1101 b) 0111 c)1100 d)1111

f)  The number of control lines for a 32 — to — 1 multiplexer is 1
@2(®m)3()4d)>5

g) The binary addition 0 + 0 + 1 gives 1
@1 (b)10 c¢) 110 (d) 11

h) Radix of BINARY number system is 1
(@) 16 (b) 10 (c) 4 (d) 2

i)  How many Flip-Flops are required for mod-16 counter? 1
(@5(M)6(c)3 ()4

j)  Binary subtraction 1 — 1 give _____borrow? 1
@1 (b)10 c)0 (d)11

k) Radix of decimal number system is 1
(@) 16 (b) 10 (c) 4 (d) 2

[) The binary addition 11 + 1 gives 1
(@) 100 (b)10 c)0 (d)11

m) MASTER SLAVE contain flip flop. 1
()2 (b)3(c)4(d)5

n)  Which gate is known as an “all or any gate™? 1

(a) AND (b) OR (c) NOR (d) NAND
Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
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What is a logic gate? Explain different types of BASIC gate
Find out (100)2 = (?)w0

Attempt all questions

Explain 8X1 Multiplexer.

Explain 3x8 decoder.

Attempt all questions
What is Karnaugh map? Solve }(0,1,2,3)
Find out binary subtraction using 2" complement. 1111-0000

Attempt all questions
Explain gray code conversion with example
What is Register? Explain 4-bit shift register.

Attempt all questions

What is Flip Flop? Explain D flip flop.

Differentiate half adder and half subtractor.

Attempt all questions

Prove associative law and distributive laws using truth table

Draw block diagram of digital to analog converter and explain it.

Attempt all questions
Write a short note on MOS & CMOS family.
Simplify >(5,6,7,8)
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Q-1 Attempt the following questions: (14)

8 uidl - ¥ AU sAlu 3R wae
A) 3l AU sellu (ofl) AR-AU BAU sclu Al) Sl EAU sAlu (S1) 58 o8l '
b)  w(ARSsA -3 lsHi €35 5135 ol BCD 815 53l ....... ®. .
W) UR Hel (¢l) aAeLatiett Afl) 2ot et (S1) uel Het.
©) A5 AR £cUNH 8 BotyeU B. Astl UL Bl sHl Bty AcEloll vl B .
@) 256 (oll) 32 () 64 (S)) 128
d) 1101 of Udcf Y5 .
A) 0010 ol) 0101 ) 1100 1) 1111
€)  0001¢f2% Y5 D .
) 1101 oll) 0111 ) 1100 $1) 1111
) 32- ol - 1 vl @suR HZell (R2iotal 2uRAle(l v B .
@Y 2 (o) 3R 4 ()5
9 (o0l GRA0+0+1AAD .
A) 1 () 10 A 110 (V) 11
N ougetdl siok ReHsll Yoo B .
A) 16 (oll) 10dl) 4 ) 2
) aQls - 16 51622 HIZ 32ctl (HAU-SAAW LS B? .
@) 5 )6 @3 (S 4
D Raolloteotfl1-120Q Q2 .
A) 1 (oll) 10 ) o (S 11
K) s3] galial it Rz te] HOYAD ? .
A) 16 (ol) 100) 4() 2
) o0l GAA 11 + 1A B .
A) 100 (1) 10 Ao (sl) 11
m) Yy QAdH EAU sAAU Sl . .
@Y 2 (o) 3 4 (SH) 5
N 53 glR “oltll AU SEURL 5127 A3 B B? .
A) el (oll) v A) R (Sl) Aos
Attempt any four questions from Q-2 to Q-8
Q-2 Attempt all questions (14)
@  AR@s e g B? AsusqRcl A2 ol Ysiz FRUAL. )
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Q-3 Attempt all questions (14)
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Attempt all questions

$-U 9 82 3(0,1,2,3,) L.
1111-0000 of 2™ stade ol citeset3l Aoigeist .

Attempt all questions
GeleR0L 313 A 5ls Ui UHesLAl.
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Attempt all questions
(AU SAU 9 8?2 AWA-UR (AU $AlU R

sl A2 A AUl o252 AE ULSA.

Attempt all questions
Ul 26Etoll GUAAL 53l us0( sl2LEl U (AR staLel UAA 5.

Bect g VellAdL soc1eR sl U sl

Attempt all questions
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